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x J x J INSTITUTO E INFRAESTRUTURA
P4 LA P8 20 P3 LA V4 20 ~FEDERAL Rua Aristarco Lopes, 240 | Centro
L—L L—l Sertdo Pernambucano  Petrolina/PE | CEP: 56.302-100
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. 21 N1 /17 ® 40 . 39 N1 /17 ] 40 BR - 232, Km 508, s/n - Zona Rural, CEP: 56000-000, Salgueiro - PE, Brasil.
Projeto Proprietéario
5 45 5 5 08 s N L
2N2 210.0 C=420 (1c) 15 ‘ 2N2 210.0 C=610 (1c) 15 CREA/PB - 160877517-8 REPRESENTANTE LEGAL: JOSENILDO FORTE DE BRITO

21 N1 25.0 C=122

32 N1 ¢5.0 C=122

Projeto

CALCULO ESTRUTURAL

Folha

Descriminagdo

Armacao das Vigas do pavimento Baldrame

5

Conj.
1

Fla./Conj.
11

Data

Escala

MAIO/2021

Indicada

Desenho

Conferéncia

MARCOS
PADILHA

MARCOS
PADILHA

A0 - 1183 mm x 841 mm
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